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ESM I. Correlation between arterial aneurysm locations (Table) 
 

 
 
p-value and phi coefficient for each arterial aneurysm correlation of referring arterial location. Ao. asc.: Ascending Aorta. ACI: Internal Carotid 
Artery. A. subcl.: Subclavian Artery. Ao. desc.: Descending Aorta. Tr. coel.: Celiac Trunk. A. lien.: Lienal Artery. AMS: Superior Mesenteric Artery. 
A. ren.: Renal Artery. Ao. abd.: Abdominal Aorta. AIC: Common Iliac Artery. AII: Internal Iliac Artery. AIE: External Iliac Artery. AFC: Common 
Femoral Artery. AFS: Superficial Femoral Artery. APF: Deep Femoral Artery. A. pop. Popliteal Artery. R: Right. L: Left. 
 

Ao. asc. ACI R ACI L A. subcl. R A. subcl. L Ao. desc. Tr. coel. A. lien. AMS A. ren. R A. ren. L Ao. abd. AIC R AIC L AII R AII L AIE R AIE L AFC R AFC L AFS R AFS L APF R APF L A. pop. R A. pop. L

Ao. asc. p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.022
|phi| < 0.1

p = 0.538
|phi| < 0.1

p = 0.257
|phi| < 0.1

p = 0.586
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = -0.19

p < 0.001
|phi| < 0.1

p = 0.044
|phi| < 0.1

p = 0.086
|phi| < 0.1

p = 0.128
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.489
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.62
|phi| < 0.1

p = 0.152
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.852
|phi| < 0.1

p = 0.855
|phi| < 0.1

ACI R p = 1
|phi| < 0.1

p < 0.001
phi = 0.38

p = 0.048
|phi| < 0.1

p = 0.04
phi = 0.1

p = 0.372
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.068
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.373
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.139
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.072
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

ACI L p = 1
|phi| < 0.1

p < 0.001
phi = 0.38

p = 0.038
phi = 0.11

p = 0.032
phi = 0.12

p = 0.603
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.003
|phi| < 0.1

p = 0.627
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.056
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.415
|phi| < 0.1

A. subcl. R p = 1
|phi| < 0.1

p = 0.048
|phi| < 0.1

p = 0.038
phi = 0.11

p < 0.001
phi = 0.36

p = 0.693
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.09
|phi| < 0.1

p < 0.001
phi = -0.13

p = 0.263
|phi| < 0.1

p = 0.704
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.208
|phi| < 0.1

p = 0.016
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.095
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.584
|phi| < 0.1

p = 0.601
|phi| < 0.1

A. subcl. L p = 1
|phi| < 0.1

p = 0.04
phi = 0.1

p = 0.032
phi = 0.12

p < 0.001
phi = 0.36

p = 0.172
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.075
|phi| < 0.1

p = 0.004
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.328
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.153
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.079
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.519
|phi| < 0.1

p = 0.535
|phi| < 0.1

Ao. desc. p = 0.022
|phi| < 0.1

p = 0.372
|phi| < 0.1

p = 0.603
|phi| < 0.1

p = 0.693
|phi| < 0.1

p = 0.172
|phi| < 0.1

p = 0.245
|phi| < 0.1

p = 0.077
|phi| < 0.1

p = 0.493
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.158
|phi| < 0.1

p < 0.001
phi = -0.12

p < 0.001
phi = -0.13

p = 0.018
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.507
|phi| < 0.1

p = 0.154
|phi| < 0.1

p = 0.245
|phi| < 0.1

p = 0.5
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 0.005
|phi| < 0.1

Tr. coel. p = 0.538
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.245
|phi| < 0.1

p = 0.018
|phi| < 0.1

p < 0.001
phi = 0.19

p = 0.109
|phi| < 0.1

p = 0.104
|phi| < 0.1

p < 0.001
phi = -0.13

p = 0.741
|phi| < 0.1

p = 0.078
|phi| < 0.1

p = 0.427
|phi| < 0.1

p = 0.096
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.238
|phi| < 0.1

p = 0.208
|phi| < 0.1

p = 0.086
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.275
|phi| < 0.1

A. lien. p = 0.257
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.077
|phi| < 0.1

p = 0.018
|phi| < 0.1

p = 0.216
|phi| < 0.1

p = 0.24
|phi| < 0.1

p = 0.026
|phi| < 0.1

p < 0.001
phi = -0.24

p = 0.001
|phi| < 0.1

p = 0.004
|phi| < 0.1

p = 0.637
|phi| < 0.1

p = 0.635
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.166
|phi| < 0.1

p = 0.169
|phi| < 0.1

AMS p = 0.586
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.493
|phi| < 0.1

p < 0.001
phi = 0.19

p = 0.216
|phi| < 0.1

p = 0.124
|phi| < 0.1

p = 0.118
|phi| < 0.1

p < 0.001
phi = -0.14

p = 0.336
|phi| < 0.1

p = 0.334
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.622
|phi| < 0.1

p = 0.625
|phi| < 0.1

A. ren. R p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.109
|phi| < 0.1

p = 0.24
|phi| < 0.1

p = 0.124
|phi| < 0.1

p = 0.008
phi = 0.11

p < 0.001
phi = -0.15

p = 0.034
|phi| < 0.1

p = 0.057
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.632
|phi| < 0.1

p = 0.638
|phi| < 0.1

A. ren. L p = 1
|phi| < 0.1

p = 0.068
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.09
|phi| < 0.1

p = 0.075
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.104
|phi| < 0.1

p = 0.026
|phi| < 0.1

p = 0.118
|phi| < 0.1

p = 0.008
phi = 0.11

p < 0.001
phi = -0.12

p = 0.552
|phi| < 0.1

p = 0.336
|phi| < 0.1

p = 0.491
|phi| < 0.1

p = 0.483
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.339
|phi| < 0.1

p = 1
|phi| < 0.1

Ao. abd. p < 0.001
phi = -0.19

p < 0.001
|phi| < 0.1

p = 0.003
|phi| < 0.1

p < 0.001
phi = -0.13

p = 0.004
|phi| < 0.1

p = 0.158
|phi| < 0.1

p < 0.001
phi = -0.13

p < 0.001
phi = -0.24

p < 0.001
phi = -0.14

p < 0.001
phi = -0.15

p < 0.001
phi = -0.12

p = 0.122
|phi| < 0.1

p = 0.942
|phi| < 0.1

p = 0.009
|phi| < 0.1

p = 0.003
|phi| < 0.1

p = 0.152
|phi| < 0.1

p = 0.329
|phi| < 0.1

p = 0.84
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.152
|phi| < 0.1

p = 0.002
|phi| < 0.1

p = 0.451
|phi| < 0.1

p = 0.451
|phi| < 0.1

p < 0.001
phi = -0.22

p < 0.001
phi = -0.22

AIC R p < 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.627
|phi| < 0.1

p = 0.263
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = -0.12

p = 0.741
|phi| < 0.1

p = 0.001
|phi| < 0.1

p = 0.336
|phi| < 0.1

p = 0.034
|phi| < 0.1

p = 0.552
|phi| < 0.1

p = 0.122
|phi| < 0.1

p < 0.001
phi = 0.5

p < 0.001
phi = 0.24

p < 0.001
phi = 0.16

p = 0.17
|phi| < 0.1

p = 0.037
|phi| < 0.1

p < 0.001
phi = 0.13

p < 0.001
phi = 0.15

p = 0.037
|phi| < 0.1

p = 0.013
|phi| < 0.1

p = 0.097
|phi| < 0.1

p = 0.097
|phi| < 0.1

p = 0.057
|phi| < 0.1

p = 0.002
|phi| < 0.1

AIC L p = 0.044
|phi| < 0.1

p = 0.373
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.704
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = -0.13

p = 0.078
|phi| < 0.1

p = 0.004
|phi| < 0.1

p = 0.334
|phi| < 0.1

p = 0.057
|phi| < 0.1

p = 0.336
|phi| < 0.1

p = 0.942
|phi| < 0.1

p < 0.001
phi = 0.5

p < 0.001
phi = 0.16

p < 0.001
phi = 0.19

p = 0.533
|phi| < 0.1

p = 0.03
|phi| < 0.1

p < 0.001
phi = 0.16

p < 0.001
phi = 0.16

p = 0.282
|phi| < 0.1

p = 0.22
|phi| < 0.1

p = 0.435
|phi| < 0.1

p = 0.435
|phi| < 0.1

p = 0.027
|phi| < 0.1

p = 0.039
|phi| < 0.1

AII R p = 0.086
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.328
|phi| < 0.1

p = 0.018
|phi| < 0.1

p = 0.427
|phi| < 0.1

p = 0.637
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.491
|phi| < 0.1

p = 0.009
|phi| < 0.1

p < 0.001
phi = 0.24

p < 0.001
phi = 0.16

p < 0.001
phi = 0.46

p = 0.147
|phi| < 0.1

p = 0.076
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 0.002
|phi| < 0.1

p = 0.015
|phi| < 0.1

p = 0.004
|phi| < 0.1

p = 0.112
|phi| < 0.1

p = 0.112
|phi| < 0.1

p < 0.001
|phi| < 0.1

p < 0.001
|phi| < 0.1

AII L p = 0.128
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 0.096
|phi| < 0.1

p = 0.635
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.483
|phi| < 0.1

p = 0.003
|phi| < 0.1

p < 0.001
phi = 0.16

p < 0.001
phi = 0.19

p < 0.001
phi = 0.46

p = 0.143
|phi| < 0.1

p = 0.074
|phi| < 0.1

p < 0.001
phi = 0.11

p = 0.002
|phi| < 0.1

p = 0.014
|phi| < 0.1

p = 0.028
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 0.001
|phi| < 0.1

p < 0.001
|phi| < 0.1

AIE R p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.152
|phi| < 0.1

p = 0.17
|phi| < 0.1

p = 0.533
|phi| < 0.1

p = 0.147
|phi| < 0.1

p = 0.143
|phi| < 0.1

p = 0.004
phi = 0.35

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

AIE L p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.329
|phi| < 0.1

p = 0.037
|phi| < 0.1

p = 0.03
|phi| < 0.1

p = 0.076
|phi| < 0.1

p = 0.074
|phi| < 0.1

p = 0.004
phi = 0.35

p = 0.038
phi = 0.11

p = 0.033
phi = 0.11

p = 0.013
phi = 0.19

p = 0.016
phi = 0.16

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

AFC R p = 0.489
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.208
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.507
|phi| < 0.1

p = 0.238
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.84
|phi| < 0.1

p < 0.001
phi = 0.13

p < 0.001
phi = 0.16

p < 0.001
|phi| < 0.1

p < 0.001
phi = 0.11

p = 1
|phi| < 0.1

p = 0.038
phi = 0.11

p < 0.001
phi = 0.51

p < 0.001
phi = 0.16

p = 0.004
|phi| < 0.1

p = 0.056
|phi| < 0.1

p = 0.056
|phi| < 0.1

p < 0.001
phi = 0.14

p < 0.001
phi = 0.11

AFC L p = 1
|phi| < 0.1

p = 0.139
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 0.016
|phi| < 0.1

p = 0.153
|phi| < 0.1

p = 0.154
|phi| < 0.1

p = 0.208
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = 0.15

p < 0.001
phi = 0.16

p = 0.002
|phi| < 0.1

p = 0.002
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.033
phi = 0.11

p < 0.001
phi = 0.51

p = 0.001
phi = 0.12

p < 0.001
phi = 0.15

p = 0.049
|phi| < 0.1

p = 0.049
|phi| < 0.1

p < 0.001
phi = 0.18

p < 0.001
phi = 0.11

AFS R p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.245
|phi| < 0.1

p = 0.086
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.152
|phi| < 0.1

p = 0.037
|phi| < 0.1

p = 0.282
|phi| < 0.1

p = 0.015
|phi| < 0.1

p = 0.014
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.013
phi = 0.19

p < 0.001
phi = 0.16

p = 0.001
phi = 0.12

p < 0.001
phi = 0.37

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.002
|phi| < 0.1

p < 0.001
phi = 0.11

AFS L p = 0.62
|phi| < 0.1

p = 0.072
|phi| < 0.1

p = 0.056
|phi| < 0.1

p = 0.095
|phi| < 0.1

p = 0.079
|phi| < 0.1

p = 0.5
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.002
|phi| < 0.1

p = 0.013
|phi| < 0.1

p = 0.22
|phi| < 0.1

p = 0.004
|phi| < 0.1

p = 0.028
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.016
phi = 0.16

p = 0.004
|phi| < 0.1

p < 0.001
phi = 0.15

p < 0.001
phi = 0.37

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.001
|phi| < 0.1

p < 0.001
phi = 0.15

APF R p = 0.152
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.451
|phi| < 0.1

p = 0.097
|phi| < 0.1

p = 0.435
|phi| < 0.1

p = 0.112
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.056
|phi| < 0.1

p = 0.049
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = 0.67

p < 0.001
phi = 0.13

p < 0.001
phi = 0.13

APF L p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.451
|phi| < 0.1

p = 0.097
|phi| < 0.1

p = 0.435
|phi| < 0.1

p = 0.112
|phi| < 0.1

p = 0.11
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.056
|phi| < 0.1

p = 0.049
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = 0.67

p < 0.001
phi = 0.13

p < 0.001
phi = 0.13

A. pop. R p = 0.852
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.584
|phi| < 0.1

p = 0.519
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.166
|phi| < 0.1

p = 0.622
|phi| < 0.1

p = 0.632
|phi| < 0.1

p = 0.339
|phi| < 0.1

p < 0.001
phi = -0.22

p = 0.057
|phi| < 0.1

p = 0.027
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = 0.14

p < 0.001
phi = 0.18

p = 0.002
|phi| < 0.1

p = 0.001
|phi| < 0.1

p < 0.001
phi = 0.13

p < 0.001
phi = 0.13

p < 0.001
phi = 0.6

A. pop. L p = 0.855
|phi| < 0.1

p = 1
|phi| < 0.1

p = 0.415
|phi| < 0.1

p = 0.601
|phi| < 0.1

p = 0.535
|phi| < 0.1

p = 0.005
|phi| < 0.1

p = 0.275
|phi| < 0.1

p = 0.169
|phi| < 0.1

p = 0.625
|phi| < 0.1

p = 0.638
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = -0.22

p = 0.002
|phi| < 0.1

p = 0.039
|phi| < 0.1

p < 0.001
|phi| < 0.1

p < 0.001
|phi| < 0.1

p = 1
|phi| < 0.1

p = 1
|phi| < 0.1

p < 0.001
phi = 0.11

p < 0.001
phi = 0.11

p < 0.001
phi = 0.11

p < 0.001
phi = 0.15

p < 0.001
phi = 0.13

p < 0.001
phi = 0.13

p < 0.001
phi = 0.6


